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QUIZ

Match the letters a to f with the correct countries according to the opinions 
expressed.

Australia 	  _______________

Canada	  _______________
	
India 		  _______________

a) �The country is more interested in developing other trade relationships.

b) Britain can get a good trade agreement if it is flexible about conditions.

c) New trade agreements might not compensate for Britain losing trade with the EU.

d) Trade between the country and the UK is likely to increase.

e) It is hoped that agricultural exports to the UK will increase.

f) Brexit does not favour the process of globalization.

Answers : Australia= e) - Canada= a)-India= b), c), d), f).


